Logaritmi

Equazioni e disequazioni logaritmiche

equazioni logaritmiche

3logg[x(x —2)] = 1 — 2log 1 [x(x — 2)]
16

2log, x = log1 3x
7

3 | log(x—1)—log(x+1)+1log(1—2x)=0 impossibile
1 109
4 | =log(3x —1)+log3 =—-1og0.1 xX=—
2 27
5 1 logysr 4 +logy(x+2)=2 x =2
6 | logz(3x—1)+1ogz,-19=3 x:%u;czE
7 | log,(2x +3) =2 x=3
g log,(x —2)—log,(3—2x) = log% 4x impossibile
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(x—4)log3 = ;log 27

x=7Ux=-3

3x —4 1 2447
11 —_ — = —
3 log 8 % log 4 x 3
b 0%x 2 .
log,x—1 1+ log, x
13 2logs,_ i 4 =1 ng
14 | log,(x—1)(BIlnx—-2)=0 x=2 Ux=3/e?
disequazioni logaritmiche
15 | 2xlog5—1log5>1+xlog?25 impossibile
16 x<0

<
E: _4+xlog%4
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3logix — logsx? —logz3 = 0

1 1
- =>1
Inx—2 2+Inx

1+ |x|in2)(logsz x — log, 9)
log?(x — 1) + log(x — 1) — Log 10°
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e V2 < x <2
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32 < x <1+ e?
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Equazioni e disequazioni logaritmiche

Logaritmi
Inx—1 1 4 1
20 - < —<x<e
Inx+1 Inx—1 1-—In%x e
21 2 + 1 < - ! < <1 Ux >+e
— X - X e
1-2Inlx] Inx+In2~ 2In2x 4/e 2
(x—1)log, 5+ 2logs 2 x<—%u
22 4 looZot >0 In?5-20n%2 2
9 InZs <hs
2log, x—1 n2
23 0 O<x<—
ln2+xln3—ln9x> *Sm3
logi(x — |x]|) + logs(x — 1) + log1(x + 1)
24 2 4 impossibile
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